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dqy iz’uksa dh la[;k % 20 dqy i`"Bksa dh la[;k % 08 

Total No. of Questions: 20  Total No. of Pages: 08 

gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017    
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fo"k; %fo"k; %fo"k; %fo"k; % HkkSfrd 'kHkkSfrd 'kHkkSfrd 'kHkkSfrd 'kkkkkL=L=L=L=    

Subject: PHYSICS     

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 075 

Time: 03 Hours  Maximum Marks: 075 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        
    (1)  lHkh iz’u vfuok;lHkh iz’u vfuok;lHkh iz’u vfuok;lHkh iz’u vfuok;ZZZZ    gSaAgSaAgSaAgSaA        

 (2)    iz’u i= nks [k.Mksiz’u i= nks [k.Mksiz’u i= nks [k.Mksiz’u i= nks [k.Mksaa aa    esa foHkkftr gSA [k.M Þvß esa oLrqfu"B iz’u fn;s x;s gSa ,oa esa foHkkftr gSA [k.M Þvß esa oLrqfu"B iz’u fn;s x;s gSa ,oa esa foHkkftr gSA [k.M Þvß esa oLrqfu"B iz’u fn;s x;s gSa ,oa esa foHkkftr gSA [k.M Þvß esa oLrqfu"B iz’u fn;s x;s gSa ,oa 
[k.M Þcß esa vfr y?kqmÙkjh;] y?kq mÙkjh; ,oa nh?kZ mÙkjh; iz’u fn;s x;s gS[k.M Þcß esa vfr y?kqmÙkjh;] y?kq mÙkjh; ,oa nh?kZ mÙkjh; iz’u fn;s x;s gS[k.M Þcß esa vfr y?kqmÙkjh;] y?kq mÙkjh; ,oa nh?kZ mÙkjh; iz’u fn;s x;s gS[k.M Þcß esa vfr y?kqmÙkjh;] y?kq mÙkjh; ,oa nh?kZ mÙkjh; iz’u fn;s x;s gSaa aaAAAA 

    (3)  iz’u Øekad 5 ls 20 rd iiz’u Øekad 5 ls 20 rd iiz’u Øekad 5 ls 20 rd iiz’u Øekad 5 ls 20 rd izR;sd iz’u esa vkarfjd fodYi fn;s x;s gSzR;sd iz’u esa vkarfjd fodYi fn;s x;s gSzR;sd iz’u esa vkarfjd fodYi fn;s x;s gSzR;sd iz’u esa vkarfjd fodYi fn;s x;s gSaa aaAAAA    
 (4)  iz’u Øekad 1 ls 4 rd izR;sd iz’u ij 5 vad vkoafVr gSiz’u Øekad 1 ls 4 rd izR;sd iz’u ij 5 vad vkoafVr gSiz’u Øekad 1 ls 4 rd izR;sd iz’u ij 5 vad vkoafVr gSiz’u Øekad 1 ls 4 rd izR;sd iz’u ij 5 vad vkoafVr gSaa aa    ftlds izR;sd miiz’u ftlds izR;sd miiz’u ftlds izR;sd miiz’u ftlds izR;sd miiz’u 

ij 1 vad vkoafVr gSAij 1 vad vkoafVr gSAij 1 vad vkoafVr gSAij 1 vad vkoafVr gSA    
 (5)  iz’u Øekad 5 ls 8 rd izR;sd iz’u iz’u Øekad 5 ls 8 rd izR;sd iz’u iz’u Øekad 5 ls 8 rd izR;sd iz’u iz’u Øekad 5 ls 8 rd izR;sd iz’u ij 2 vad vkoafVr gSaA 'kCn lhek yxHkx ij 2 vad vkoafVr gSaA 'kCn lhek yxHkx ij 2 vad vkoafVr gSaA 'kCn lhek yxHkx ij 2 vad vkoafVr gSaA 'kCn lhek yxHkx 30 30 30 30 

'kCn 'kCn 'kCn 'kCn     
    (6)  iz’u Øekad 9 ls 12 riz’u Øekad 9 ls 12 riz’u Øekad 9 ls 12 riz’u Øekad 9 ls 12 rd izR;sd iz’u ij 3 vad vkoafVr gSaA 'kCn lhekd izR;sd iz’u ij 3 vad vkoafVr gSaA 'kCn lhekd izR;sd iz’u ij 3 vad vkoafVr gSaA 'kCn lhekd izR;sd iz’u ij 3 vad vkoafVr gSaA 'kCn lhek    yxHkx yxHkx yxHkx yxHkx 75 75 75 75 

'kCn 'kCn 'kCn 'kCn     
 (7)  iz’u Øekad 13 ls 17 rd izR;sd iz’u ij 4 vad vkoafVr gSaA 'kCn lhek yxHkx iz’u Øekad 13 ls 17 rd izR;sd iz’u ij 4 vad vkoafVr gSaA 'kCn lhek yxHkx iz’u Øekad 13 ls 17 rd izR;sd iz’u ij 4 vad vkoafVr gSaA 'kCn lhek yxHkx iz’u Øekad 13 ls 17 rd izR;sd iz’u ij 4 vad vkoafVr gSaA 'kCn lhek yxHkx 

120 'kCn 120 'kCn 120 'kCn 120 'kCn     
 (8)  iz’u Øekad 18 ls 20 rd izR;sd iz’u ij 5 vad vkoafVr gSaA 'kCn lhek yxHkx iz’u Øekad 18 ls 20 rd izR;sd iz’u ij 5 vad vkoafVr gSaA 'kCn lhek yxHkx iz’u Øekad 18 ls 20 rd izR;sd iz’u ij 5 vad vkoafVr gSaA 'kCn lhek yxHkx iz’u Øekad 18 ls 20 rd izR;sd iz’u ij 5 vad vkoafVr gSaA 'kCn lhek yxHkx 

150 'kCn150 'kCn150 'kCn150 'kCn    
    (9)  vko’;vko’;vko’;vko’;drkuqlkdrkuqlkdrkuqlkdrkuqlkj LoPN ,oa ukekafdr fp= cukb;sAj LoPN ,oa ukekafdr fp= cukb;sAj LoPN ,oa ukekafdr fp= cukb;sAj LoPN ,oa ukekafdr fp= cukb;sA                             
INSTRUCTIONS: -  
 (1) All questions are compulsory.  
 (2) Question paper is divided into two parts. Part “A” contains objective type 

questions. Where as in Part “B” there are very short answer, short answer and 
long answer type questions.  

 (3) Internal options are given in each question from qu.no.5 to qu.no.20. 
 (4) Each question from question no. 1 to 4 carry 5 marks and each sub question 

carries 1 mark. 
 (5) Each question from question no. 5 to 8 carry 2 marks. Word limits approx-30 

words. 
 (6) Each question from question no. 9 to 12 carry 3 marks. Word limits approx-75 

words. 
 (7) Each question from question no. 13 to 17 carry 4 marks. Word limits approx-120 

words. 
 (8) Each question from question no. 18 to 20 carry 5 marks. Word limits approx-150 

words. 
 (9) Draw neat and labelled diagram wherever necessary. 
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[k.M Þvß@[k.M Þvß@[k.M Þvß@[k.M Þvß@PART “A” 

iz-1 izR;sd iz’u esa fn;s x;s fodYiksa esa ls lgh fodYi pqudj fyf[k;s%&       ¼1¼1¼1¼1××××5555====5½5½5½5½    

 ¼v½ ,d dwykWe vkos’k esa bysDVªkWuksa dh la[;k gksrh gS& 

  (i) 5-46 × 1029    (ii) 6-25 × 1018   

  (iii) 1-6 × 10&19    
(iv) 9-0 × 1011 

 ¼c½ fo|qr /kkfjrk dk S.I ek=d gS& 

  (i) QSjM     (ii) LFkSr QSjM  

  (iii) dwykWe     
(iv) LFkSr dwykWe 

 ¼l½ ;fn ,d /kukosf’kr pkyd dks /kkfRod rkj }kjk i`Foh ls tksM+k tkrk gS]rks& 

  (i) pkyd ls izksVku i`Foh ij tkrs gSaA     

  (ii) pkyd ls bysDVªkWu i`Foh ij vkrs gSaA 

  (iii) i`Foh ls bysDVªkWu pkyd ij vkrs gaSA     

  
(iv) i`Foh ls izksVkWu pkyd ij vkrs gSaA 

 ¼n½ vksgeh; izfrjks/k gS& 

  (i) laf/k Mk;ksM    (ii) izdk’k mRltZd Mk;ksM 
 

  (iii) VªkaftLVj    
(iv) rk¡cs dk rkj 

 ¼b½ ysDyka’kh lsy esa fo|qr vi?kV~; gS& 

  (i) H2SO4 
   (ii) MnO2  

  (iii) NH4Cl
    

(iv) CuSO4 
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 Select the correct alternative in each of the following:- 

 (a) The number of electrons in 1C charge is- 

  (i) 5.46 × 1029 
   (ii) 6.25 × 1018 

  (iii) 1.6 × 10-19    
(iv) 9.0 × 10II  

 (b) The  S.I unit of electrical capacity is- 

  (i) Farad
    (ii) Stat farad 

  (iii) Coulomb
    

(iv) Stat coulomb  

 (c) When a positively charged conductor is earthed by a metallic wire, then- 

  (i) Protons move from the conductor to earth.
    

  (ii) Electrons move from the conductor to earth. 

  (iii) Electrons move from earth to the conductor.
   

  
(iv) Protons move from earth to the conductor. 

 (d) Ohmic resistance is- 

  (i) Junction diode
   (ii) Light emitting diode 

  (iii) Transistor
    

(iv) Copper wire 

 (e) The electrolyte in Leclanche cell is- 

  (i) H2SO4 
   (ii) MnO2  

  (iii) NH4Cl
    

(iv) CuSO4 

iz-2 fjDr LFkkuksa dh iwfrZ dhft,%&         ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 ¼v½ ,d vkn’kZ oksYVehVj dk izfrjks/k-------------------------------------------------------------------------------------gksrk gSA 

 ¼c½ pqacdh; /kqzoksa ij ueu dks.k dk eku-------------------------------------------------------------------------------gksrk gSA 

 ¼l½ ysat dk fu;e-------------------------------------------------------------------------------------------------fu;e ds vuqdwy gSA 

 ¼n½ lapkj mixzg dk vkorZdky-----------------------------------------------------------------------------------------------gksrk gSA 

 ¼b½ 'osr izdk’k esa iryh fQYe ds jaxhu fn[kkbZ nsus dk dkj.k----------------------------------------------gSA 

 Fill in the blanks:- 

 (a) The resistance of an ideal voltmeter must be……………………………………………... 

 (b) At magnetic poles, the angle of dip. is……………………………………………………... 

 (c) Lenz’s law is in accordance with the law of……………………………………………….. 

 (d) The time period of geostationary (Communication) satellite is…………………………. 

 (e) The cause of a thin film to be seen coloured in white light is……………………………. 
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iz-3 lgh tksM+h cukb;s%&                   ¼1¼1¼1¼1××××5555====5½5½5½5½ 

l-Ø- LraHk Þvß l-Ø- LraHk Þcß 
v ySal dh {kerk (i) 2f 

c oØrk f=T;k (R) (ii) 'kwU; 
l ljy lw{en’khZ dh vko/kZu {kerk (iii) Mk;vkWIVj 
n ÅtkZ dk ek=d (iv) 

f

D
1+  

b QksVkWu dk fojke nzO;eku (v) bysDVªkWu&oksYV 
   

  Make the correct pair:-        

S.No. Column “A” S.No. Column “B” 

a) Power of lens (i) 2f 

b) Radius of curvature (R) (ii) Zero 

c) Magnification power of simple 

microscope 

(iii) Diopter 

d) Unit of energy (iv) 

f

D
1+

 

e) Rest mass of photon (v) Electron-volt 

  

iz-4 izR;sd iz’u dk mÙkj ,d okD; esa nhft,%&         ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 ¼v½ NPN rFkk PNP VªkaftLVj esa dkSu vf/kd mi;ksxh gSA rFkk D;ks\ 

 ¼c½ tsuj Mk;ksM dk dksbZ ,d mi;ksx fyf[k;sA 

 ¼l½ AND xsV dk izrhd cukb;sA 

 ¼n½ izdkf’kd rUrq fdl fl)kUr ij dk;Z djrk gS\ 

 ¼b½ LASER dk vFkZ fyf[k;sA 

 Give answer of each question in one sentence:- 

 (a) Which of the NPN and PNP transistor is more useful? why? 

 (b) Write any one use of Zener diode. 

 (c) Draw the symbol of AND gate. 

 (d) What is the principle of optical fibre? 

 (e) What is meant by LASER? 
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[k.M Þcß@[k.M Þcß@[k.M Þcß@[k.M Þcß@PART “B” 

iz-5 fo|qr paqcdh; o.kZØe esa lcls NksVh o lcls cM+h rjax nS/;Z ds fofdj.kksa ds uke  

fyf[k;sA            ¼2½¼2½¼2½¼2½ 
 Name the radiations of minimum and maximum wave lengths in the electromagnetic 

spectrum. 

vFkokvFkokvFkokvFkok@@@@OR 

 Þ/kwi ds p’eksa esa jaxhu dk¡p ds LFkku ij iksysjkbM iz;qDr fd;k tkrk gSAß D;ksa\ 
 Why do we use Polaroid’s in sun glasses, instead of coloured glasses? 

iz-6 ijkorZu fdls dgrs gSa\ ijkorZu ds fu;e fyf[k;sA         ¼2½¼2½¼2½¼2½ 
 What is reflection? State the laws of reflection. 

vFkokvFkokvFkokvFkok@@@@OR 

 foLFkkiu fof/k esa nksuksa fiuksa ds chp dh nwjh d, ySal dh Qksdl nwjh f ds pkj xqus ls 

vf/kd j[kh tkrh gaSA D;ksa\ 
 In displacement method, the separation d between the two pins must be more than four 

times of the focal length f of the lens. Why? 

iz-7 izdk’k fo|qr izHkko esa&         ¼2½¼2½¼2½¼2½ 

(i) nsgyh vko`fÙk rFkk      (ii)  dk;Z Qyu dks le>kb;sA 
 Explain the meaning of- 

  (i)  Threshold frequency and   (ii) Work function in photoelectric effect 

vFkokvFkokvFkokvFkok@@@@OR 

 Mh&czksXyh rjaxs D;k gaS\ Mh&czksXyh dk rjax lehdj.k fyf[k;sA 
 What are de-Broglie waves? Write down the de-Broglie relation. 

iz-8 ,uykWx o fMftVy flXuy esa dksbZ nks vUrj fyf[k;sA         ¼2½¼2½¼2½¼2½ 
 Write any two differences between analog signal and digital signal. 

vFkokvFkokvFkokvFkok@@@@OR 

 fuEu oksYVst Lrjksa ds fy, rhu vadksa okys f}vk/kkjh dksM fyf[k;sA 
 (i) 2 (ii) 5 

 Write down the binary code of three digits for the following voltage level. 

 (1) 2 (ii) 5 

iz-9 vkse dk fu;e fyf[k;sA vkse ds fu;e dh D;k lhek,¡ gSa\         ¼¼¼¼3333½½½½ 
 State Ohm’s Law. What are the limitations of Ohm’s law? 

vFkokvFkokvFkokvFkok@@@@OR 

 fdjpkWQ ds fu;e fyf[k;sA 
 Write Kirchhoff’s law. 
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iz-10 foHkoekih ds rkj dh yackbZ 280 lseh- ij ,d ysDyka’kh lsy larqfyr gksrk gSA tc ysDyka’kh lsy 

ds LFkku ij Msfu;y lsy yxk;k tkrk gS rc larqyu 200 lseh- ij izkIr gksrk gSA nksuksa lsyksa ds 

fo|qr okgd cy dh rqyuk dhft,A         ¼¼¼¼3333½½½½ 

 A Leclanche cell is balanced on length 280 cm of the potentiometer wire. When Leclanche 

cell is replaced by Daniel cell the balance point is obtained at 200 cm. Compare the emf’s 

of two cell. 

vFkokvFkokvFkokvFkok@@@@OR 

 'kq"d lsy dk ukekafdr fp= cukb;sA 

 Draw labelled diagram of Dry-Cell. 

iz-11 ;fn oLrq vory niZ.k ds /kzqo o Qksdl ds chp j[kh gks rks izfrfcac dSlk rFkk dgk¡ cusxk\ 

fdj.k vkjs[k [khafp,A           ¼¼¼¼3333½½½½ 

 An object is placed between the focus and pole of a concave mirror. Draw ray diagram to 

show the position and nature of the image. 

vFkokvFkokvFkokvFkok@@@@OR 

 fdlh ek/;e ds fy, ok;q ds lkis{k Økafrd dks.k 45° gSA ml ek/;e dk viorZukad Kkr 

dhft,A 

 The critical angle of a medium with respect to air is 45°. Calculate the refractive index of 

the medium. 

iz-12 okLrfod ,oa vkHkklh o.kZØe esa dksbZ rhu varj fyf[k;sA         ¼¼¼¼3333½½½½ 

 Write any three differences between real and virtual spectrum. 

vFkokvFkokvFkokvFkok@@@@OR 

 fl) dhft,% aµw  ×  wµg  × gµa = 1 

 Prove that:   aµw × wµg × gµa = 1 

iz-13 'k.V fdls dgrs gS\ bldk fl)kUr le>kb;sA         ¼¼¼¼4444½½½½ 

 What is shunt? Explain its principle. 

vFkokvFkokvFkokvFkok@@@@OR 

 Hkw pqacdh; rhozrk Ι, mlds {kSfrt ?kVd H, Å/okZ/kj ?kVd V ,oa ufr dks.k θ esa laca/k 

n’kkZus okyk lw= O;qRiUu dhft,A 

 Derive expression showing the relationship, between the intensity of earth’s magnetic field 

Ι, it’s horizontal compound H, vertical component V and angle of dip θ. 
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iz-14 Hk¡oj /kkjk,sa D;k gSa\ buls D;k gkfu gksrh gS\ buds dksbZ nks mi;ksx fyf[k;sA     ¼¼¼¼4444½½½½ 
 What are eddy current? What are their disadvantages? State any two applications of them. 

vFkokvFkokvFkokvFkok@@@@OR 

 mPpk;h ,oa vipk;h VªkalQkeZj esa dksbZ pkj lgh varj fyf[k;sA 
 State any four correct differences between step up and step down transformer. 

iz-15 ,d Vh-oh- ,f.Vuk dh Åpk¡bZ h ehVj gSA fl) dfj;s fd blls i`Foh dh lrg ij nwjh 

2hR d =  rd flXuy izlkj.k fd;k tk ldrk gS] tgk¡ R i`Foh dh f=T;k gSA     ¼¼¼¼4444½½½½ 
 A  T.V. antenna is of height h meter, Show that it can be used to transmit the signal up to a 

distance 2hR d = on the earth’s surface.   

vFkokvFkokvFkokvFkok@@@@OR 

 czwLVj dk fu;e D;k gS\ fl) dhft, fd ,d ikjn’khZ ry ij czwLVj dks.k ij vkifrr 

izdk’k fdj.k ds fy, ijkofrZr rFkk viofrZr fdj.ksa ,d nwljs ij yacor~ gksrh gSaA 

 What is Brewster’s law? Prove that for the light incident on a transparent surface at 

Brewster’s angle the reflected and refracted rays are normal to each other. 

iz-16 ,d la;qDr lw{en’khZ esa vfHkn`’;d ySal dh vko/kZu [kerk & 40 gS rFkk us= ySal dh 

Qksdl nwjh 5 lseh gSA lw{en’khZ dh vf/kdre vko/kZu {kerk fdruh gksxh\ ¼Li"V n`f"V dh 

U;wure nwjh D = 25 lseh½         ¼¼¼¼4444½½½½ 

 In a compound microscope, the magnifying power of objective lens is -40 and focal length 

of eye lens is 5 cm. What will be the maximum magnifying power of microscope? (Least 

distance of distinct vision D = 25 cm) 

vFkokvFkokvFkokvFkok@@@@OR 

 ikfFkZo nwjn’khZ dk o.kZu fuEu fcanqvksa ds vk/kkj ij dhft,A 
 (i) ukekafdr js[kkfp=] tc vafre izfrfcac Li"V n`f"V dh U;wure nwjh ij cusA 

 (ii) nwjn’khZ uyh dh yackb;ksa gsrq lw= tc izfrfcac& 
  (a) vuUr ij cus 
  (b) Li"V n`f"V dh U;wure nwjh ij cus 
 Describe terrestrial telescope on the basis of the following points. 

 (i) Labelled ray diagram, when final image is formed at “D” 

 (ii) Expression for the Length of telescope tube when the image is formed at- 

  (a) Infinity 

  (b) Least distance of distnct vision 

iz-17 vk;ke ekWMqys’ku (AM) rFkk vko`fÙk ekWMqys’ku (FM) esa dksbZ pkj varj fyf[k;sA     ¼¼¼¼4444½½½½ 

 Write any four differences between amplitude modulation (AM) and frequency modulation 

(FM). 

 



[210]                                                         Page 8 of 8                                                     (5320)                    

vFkokvFkokvFkokvFkok@@@@OR 

 fVIi.kh fyf[k;s%& 
 (i) QsDl  (ii) ekWMse 

 Write short note on:- 

 (i) Fax  (ii) MODEM 

iz-18 xkWl dk izes; fyf[k;s rFkk blds }kjk dwykWe dk O;qRØe oxZ fu;e fuxZfer dhft,A  ¼¼¼¼5555½½½½ 
 ‘State Gauss’ theorem and use it to derive the coulomb’s inverse square law. 

vFkokvFkokvFkokvFkok@@@@OR 

 oku&Mh xzkQ tfu= dk o.kZu fuEufyf[kr 'kh"kZdksa ds varxZr dhft,& 
 ¼v½ ukekafdr fp= 
 ¼c½ fl)kar 
 ¼l½ mi;ksx 
 Describe Van-de Graaff generator under the following points. 

(a) Labelled diagram 

(b) Principle 

 (c) Use 

iz-19 ,d lery o`Ùkkdkj dq.Myh ds LoiszjdRo ds fy, O;atd LFkkfir dhft,A bldk eku 
fdu&fdu dkjdksa ij fuHkZj djrk gS\         ¼¼¼¼5555½½½½ 

 Establish expression for the self inductance of a plane circular coil. On what factors does it 

depend? 

vFkokvFkokvFkokvFkok@@@@OR  

izR;korhZ /kkjk ifjiFk ds fy, fuEu O;atd LFkkfir dhft,& 
  Pav = Vrms × Ιrms  × cos θ 

 Obtain expression. for the A.C. Circuit- 

  Pav = Vrms × Ιrms  × cos θ 

iz-20 fn"Vhdj.k D;k gS\ P-N laf/k Mk;ksM dk v)Z rjax fn"Vdkjh ds :i esa mi;ksx dk o.kZu 
fuEu 'kh"kZdksa esa dhft,A         ¼¼¼¼5555½½½½ 

 ¼v½ ifjiFk dk ukekafdr fp= 
 ¼c½ fuos’kh rFkk fuxZr foHko dk le; ds lkFk ifjorZu vkjs[k 
 What is rectification? Describe use of P.N junction diode as a half wave rectifier under the 

following heads. 
(a) Labelled circuit diagram 
(b) Graphs showing the variation of input potential and output potential with time. 

vFkokvFkokvFkokvFkok@@@@OR 
 nksfy= fdls dgrs gSa\ VªkaftLVj dk nksfy= dh Hkk¡fr mi;ksx ifjiFk vkjs[k [khapdj 

le>kb;sA 
 What is an Oscillator? Explain the use of a transistor for as an Oscillator with circuit 

diagram. 
------------------------------------------- 


